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P-value < 0.05
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(percentage of predicted probabilities)
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1.00
-075*
086*
-113*
084*
236*
181*
-119*
-105*
-172¢
214*
025
-012
- 039*
041
031
08
-418*
- 057
168
-015*
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-D41*
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- 095*
021*
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- 044*
- 049*
-014*
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-013*
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-033*

1.00

-935*
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-033*
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4 5
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-210¢ 1.00
-183*  -016
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035 -008
006* 017
053 -001
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018 .031*
025% -031*
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007001
-069*  -.008
-053* 019
134 -027%
05 -012
-020 018
-006 001
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1.00
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010
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- 044*
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-012*
-025*
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-067*
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022
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085*
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006

1

1.00
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-016*
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- 026*
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1.00
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-162*
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002
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log likelihood = -318.46
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-0.71266*

-2.11258
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-0.35091

0.01413

0.56314
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2.15540*

1.88303*

1.35837

1.84531*

0.04571

16



< 0.05
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-0.94411
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0.69239
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Log likelihood = -295.58
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-0.19369
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= 1,789
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0.29

0.26
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